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General Instructions: -
> Pol 40 T g
Total number of questions is 40.
> T gl & IO AT g
All questions are mandatory.
> IS N & v e 3w AUiRa g
One mark is assigned to each question.

> Ucdd 9 & IR [GFheq U v 1 TEl [dhed ol IId HITAT|

There are four options for each of the questions. Choose the

correct option.
> Ield 3T & fAT IS 37 61 FIC AT
There is no negative marking for wrong answer.

1. ArATA@a & & HATdelr I Teh fAAVAT Hied & AgT g2
Which of the following is not a charecteristics of Questionaire?
(@) RTINSl 8 Tehal g
Questionaire can be lenghthy.
(b) 9T H 3 & Hohd lgl THoldAT dAIBT|
There should not be clue for answer in the questions.
(c) U=l &7 s AT & faferse gar anfgul
Questions should be arrenged in general to particular.
(d) 92T FUSC glAT AT

Questions should be clear.
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2. GITCTHT T A [hd gl AT 87

Who is known as the father of ‘Statistics’?

(a) TsH TAY (b) 3NCIHISS TehaTdidl
Adam Smith Gottfried Achenwall
(c) 31eths AT (d) dr. &, FAgTe=feq
Alfred Marshal P.C.Mahalnobis
3. 'HIARET SliaeT & HRISR & Tl H HsT & e g1’ Tg HUT fohd
HYATET & 872

‘Economics is the study of men in the ordinary business of life.” This

statement is of whose economist?

(a) TsH TAY (b) IS Teholdlcl
Adam Smith Gottfried Achenwall
(c) 31eths AT (d) dr. &, FAgTe=Ifad
Alfred Marshal P.C.Mahalnobis

4. AFAR YA & GEY A Hlel AT HUA T §7?

Which of the following statement is true regarding the open ended

questions?

(a) TET SUTEAT HLAT HideT| (b) 3T &I Taehed Hisg 8T gl
Difficult to explain Options of answers are given
(c) 3R & FHATAAT Iy AT gl (d) TPR AT HfdaT glar Bl
There is equality .in answers. Difficult to score.

5. 9T T FT 3 g7
What is meant by Range?

(a) 3fAHdH 3R ~FeTdH Y7ol & = &1 IR
Difference between maximum and minimum observations.
(b) 3TTERCTH 3 FYTdHA WeTuil & o= &1 T
Sum of maximum and minimum observations.
(c) 31fehas 3R =geTaH YaTull & & &1 3fad
Average of maximum and minimum observations.
(d) geTdd 3T rTRhda Jefuil & &= 1 3HeR

Difference between minimum and maximum observations.
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6. TolaT & 3MUR W HARAT STAEEAT H &Y Td Hfgerl al dai 7 fasioia
e, et & & forg gefferor &1 3emeRoT 87
To classify Indian population into male and female on the basis of

gender is the example of which type of classification?

(a) Tl (b) HATATCHS
Chronological Quantitative
(c) TuTfash (d) IoTcAS

Spatial Qualitative

7. o aroly & 9fFa Mse =1 a1 g Srar 82

What the row heading in a table is called?

(a) 39-2M¥e (b) ehfen
Captions Title

(c) 3Ty (d) TFeT efdh
Stubs Contents of column

8. 3ad T fFg v & oW & v saw Jra 82

Histograms are drawn for what type of variables?

(a) Fdd W (b) R_fdFT W
Continuous variable Discrete variable
(c) Ida 3R fafgea g @ (d) 318 & FIg A&T

Both continuous and discrete variables None of these

9. |l GaTull & FHeA. & AT &l F&TON T FE&AT A AT &l W YIed el
FT FAT gl STl g7

What is the quotient obtained by dividing the sum of values of all

observations by number of observations called?

(a) AT HILT (b) FTTETRT
Arithmetic Mean Median

(c) AU AT (d) Sgerh
Geometric Mean Mode
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10.fArfaf@a & & fora 3iad $r 0T F & AT st o ded A H
G 3ferary giar g7
In the calculation of which type of average, it is mandatory to arrange

the data in increasing order?

(a) FHATAX ATET (b) e
Arithmetic Mean Median
(c) VMR AL (d) Sgeh
Geometric Mean Mode
1.ffafEa # ¥ Fia @1 it e 7w Afes & ar s swn 7 fQea
LT 87
Which of the following average divides the given data into four equal
parts?
(a) AT ATET (b) ATFETR
Arithmetic Mean Median
(c) Igi= (d) SgeTeh
Quartile Mode

12. A1 el & G987 ATT ST FAT Fal SIdl 87

What is the relative measure of.standard deviation called?

(a) R 0TH (b) faeRoT FqUTieR
Coefficient of range Coefficient of variation

(c) farerereT F[oTieh (d) ST & et
Coefficient of deviation All of these

13.F=Rf@a & g a1 i soer J deor & e 3 [uasar & @aer
AT I foAT ST 87
In the calculation of which of the following measures, the absolute value

of deviations of observations by their average is taken?

(@) W= (b) ATET faTrereT
Range Mean deviation

(c) ATTH TaTel (d) 3TH & @l
Standard deviation All of these
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14 Tl 37Tehs T Aol fawcle 16 TUT FAIGR #EY 50 § o faeror oneh
T AT AT GIIM?
If the standard deviation and arithmetic mean of a data are respectively
16 and 50, then what will be the value of coefficient of variation?
(@) 16% (b) 50%
(c) 0.32% (d) 32%

15. GHE 0N & T & 9T fhd JhR & HEHY Hl T&AcHS AT 72

Coefficient of correlation is the numerical value of which type of

correlation?

(a) 3NET HgHeE (b) T Tgwer
Non-linear Correlation Linear Correlation
(c) araAt I aur IRWT ey (d) SoTd T IS TRl
Both Linear and Non-linear correlation None of these
16.91¢ &7 =T & 1T FeEaY QUIA: UellcHS ¢ ol TEESY 0lieh T AT FI]
grm?

If the correlation between two variables is perfectly positive, then what
will be the value of coefficient of correlation?
(@ 0 (b) 1
(c) -1 (d) 0.9
1701 HgaaY & faorE &1 AY fhd Sar g7

Who is credited with the development of Rank Correlation?

(a) Frel TRREA (b) FeR

Karl Pearson Fisher

(c) TRAT (d) usH &Ry
Spearman Adam Smith

18.190%T # & HleT &1 Faehich Ger HHAGH & I IRl I AT §?

Which of the following index number measure the changes in retail

prices?

(a) €AY AT (b) ¥ HAT FIHhh
Sensex Whole sale price index
(c) NN IcuresT Fahieh (d) 3usitercT FAT Fahish
Industrial production index Consumer price index
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19.9FRR T HAT Fashih H fFd AR & &7 & gFFd fHa1 Srem g2

Which is used as weight in calculation of Laspeyre’s Index number?

(a) TAATA AT ST HIAT (b) I 1A Hr AET
Price of current year Quantity of current year

(c) TR 3raf $r Hrad (d) 3MTUR 37afer T AET

Price of base year Quantity of base year

20.7ct & HNTale HAged T Jdle dTel Fehich T FAT gl AT §7?

What is the index that emphasize the relative importance of items called?

(a) O HeHfed gAHIh (b) T HATUIT Felehieh
Simple Aggregative Index Simple Price Relative index
(c) #RT Faehieh (d) s1H & Fefr

Weighted Index All of these

21.7¥cgaEdr & grafAs &7 fhg @ dafda g2
What is the primary sector of an economy is related to?
(a) 3c3T  Industry (b) H Agriculture
(c) &ar Service (d) fafa#dTor Manufacturing
22 15T AT &1 3ol fobd ay. foram am=m om?
In which year was Planning Commission formed?
(a) 1935 (b) 1938
(c) 1950 (d) 1948
23.9Rd &1 HIAA gIauiiT A1 HiT @ g7
Which is the last five-year plan of India?
(a). 104t (10™) (b) 114t (11
(c) 12dF (12 (d) 134t (13™)
24 R # A 3Tk i T @A T a¥ &r ag?
In which year New Economic Policy started in India?
(a) 1975 (b) 1988
(c) 1991 (d) 1998
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25.fafder &1 3¢ AT 872
What is the objective of disinvestment?
(a) T 3reTemae Soret
To promote financial discipline
(b) 3TEfARIRIOT H FERIAT AT
To help in modernization
(c) TIHR CaRT T Tehidd Hall
To collect revenue by the government
(d) 51 & el
All of these
26.7329 =R HIred (WTO) &t T | av¥ fr as?
In which year was World Trade Organization (WTO) established?
(a) 1990 (b) 1995
(c) 1955 (d) 2001
27 TEATT SAT T TSR T HET TR 4T 82
What is the main basis of livelihood for rural population?
(a) I Agriculture (b) 39T _~Industry
(c) uRag Transport (d) §fFer ~ Banking
28.7AFT H @ It AT 52T, HUMH H FIU F3T 3cUIGh o2 g7
Which of the following country is the largest producer of cotton?
(a) ITfehEdTsT Pakistan (b) #reir  Sri Lanka
(c) #cret Bhutan (d) #HRT India
29.mﬁtﬁv®wmﬂwmaﬁﬁaﬂma&¢m§3ﬂm?

In which year was Mahatma Gandhi Rural Employment Guaranty Act

passed?
(a) 2004 (b) 2005
(c) 2007 (d) 2011

30.1AFT A & HieT-|T ATT Yol el 872
Which of the following is not human capital?
(a) SSNfAX Engineer (b) =X  Computer
(c) s&¥eX  Doctor (d) freTd  Teacher
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31.\9 @& § -

Human Development is -

(a) Ts Iy (b) T HET

A mean an end
(c) TTUA UG AT GIAT (d) 3TH & HIS 7R
Both mean and end None of these

32. 37T IMIRA JITIEAT & § H HARA & FUARA &l & folv fodeet H &
Pl TT HRS 3AERT &2
Which of the following factor is responsible for transformation of India

into Knowledge based Economy?

(a) URageT &I fasr (b) erEdiaoT
Development of transportation Urbanization
(c) = 3R WA i fahra (d) s ¥ @l

Development of Information and Technology All of these
33.3mTRe TG & AN T § -
Infrastructure covers-
(a) STl Electricity (b) @$  lIrrigation
(c) Fseh! & AT Construction of Road '~ (d) 39« & Above all
3486 T % B T R A gs?

In which year was Regional Rural Bank established?

(a) 1969 (b) 1975
(c) 1985 (d) 1990
35.UTHIOT AHASCT HT_3eUTd, AGL HATT T Tolell H ..o, gl
The proportion of rural labour force is ..................... than that of urban
labour force.
(a) 318 (b) e
More Less
(ORCHER (d) 378 & & FIg LT
Equal None of these
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36.5¢ fAHUT 17 & FRRT IFT & AT T oo gl STTa|

The employment of a person engaged in bricks making work is

called...............
(a) afAa Aaarsrel FHeard (b) FafgrsteT
Regular salaried employee Self-employment
OREREES (d) R 3nfFew B
Wage labourers non-economic activity

37.595 ¥ FT FaT FT IR-WRETET Id 82

Which among these is the non-conventional source of energy?

(a) amg fasrelr (b) gATSSTT
Thermal power Hydroelectricity
(c) @R Far (d) SrreT
Solar energy Coal

38.313 U Wil T & TAUROT 1 I ¢ -

Which of the following is an indicator of determination of health?

(a) R g & (b) ATHTRT &I
Child Mortality Rate Enrolment Rate
(c) |IaRaT & (d) $TH & IS 77T

Literacy Rate None of these

39.9fa% @ A WA & AT Feh 3UFFRd Fh AT ST 872

Why organic manure is considered as most suitable for farming?

(a) IE goHl & (b) Ig HGIM &

It is light. It is costly.
(c) 38H TEATAS Yard 78 § (d) TE HH @I &
Chemical materials are not available. It is used less in quantity.

40.91% (SAARC) &I 3T e g3m?
When was SAARC formed?

(a) 8 feHFX 1985 (b) 9 T&dsT 1980
8 Dec. 1985 9 Sep. 1980

(c) 12 feae=¥ 1988 (d) 5 3T 1989
12 Dec. 1988 5 June 1989
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